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Note: (a) All qtresrmm ure (ompu[mrjf (b) F!ze candidate s allowed to make suitable moneric assumptions

whercver reguived for solving problems.

£} (Question CO Wiarks
. NO - . - —_— e e ]
Ql | “In Verilog, if there are no timing control statements, the | CO-3 ]
simulation time does not advance’ justify the use of timing controls
777777777777 _n Verilog in context of this statement. e
Q2 | Discuss the use oflcguiar delay control, and inlra- dss%nmu]t delay | CO-3 | 1.541.5%3
| control using suitable cxample for each. . i
Q3 Declare a register called oscillate. Jnitialize it to 0 and wnake it | CO.7 2
.. tnggle every 30 time units, Do wet use an always slatement. __|1 S
L 4 1 Design a clock with time period=40 ani 4 duty cyele of 25% by | CG-3 3
r using the always and initial statements. The value of clock at time
. _|=0should be initialized t00. T e
Q3% | Blocking and Nonblocking assignments cin be used in Verilog | CO-3 | 24142
modules, differcntiale between these 1wo by discussing their ‘
exceution style, operator used etc by taking suitable example. Ont
of these two, which one is preferred in digital design and why?
Which assignment:out of these suffers from race condition and
. _|.which onc does-not suffer, discuss using a suit able example. | -
06 | 1s Verilog. HDL a concurrent ]d[]“llclf_)c? W oyes, Justify the | CO-3 4
conenrient” pature of Verilog TIDL language with the help of a |
programiming cxample which uses multiple initial statements and |
:__ | show the dutput also. o J o
Q7 | ¥'is said that in some situations while ]oop s cl])plf)}"ld[l and in | COA | 4
‘ somie situations for loop is more appropriate 1o be vsed. Justify this
sk atement with proper logic and test cases for both leops. o ]
Qs ]mploynw suitable cxamplc of cach, discuss the vsefuliess of | CO-1 | 4
“](H aver nl]U repet 10\)1) 111 Veril 0 TTT ’J o L - - B
7 f“‘ LTI ‘-r‘._lflﬁr‘ deatpn e sdule waing ; sviEl R il J0 i
a 2-10-4 decoder. Tnclude the modnk‘ definition, mput/ontput
| declarations, and always block, e -
O16 | The (i(mggn code of a Vm!np HDL lang nagc is as follows: 2542 555
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scarch biock: bepan
while (1 < 8) begin
H{datali]) vegin
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end
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end
atid]
end

a) What ig the special feature uged in the above Veriiop code within
the search_block? Fxplain how s feainie contrals the excoution
of the code and deserihe Hho ot when the Firs ' s encountered
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. soe, which
construct would replace e Veiog disabie statement used here?
Corpare how ihi
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